chbonoooooonogond

oogo-

20060 40 1801

o0

goooooooooOocoOooOoUooOooOooOoU0U00oOoooU0oOoU0OoOooOOo0oOOOuUNIX
goboooooooobobOoooobOoooobOooooOoobooboOobono 1002000000000
gobooooboooboooooooooOoObOO0ObOOO0bO0oOoOO00bOb0o0bOoOoooDooboOoon
oooooooooooooboo

1 ODogboooobooooad
0000000000000000000000000000000000

e JI0OD00OOO0OO0ODDOOOODOOODOOOODODDOODOODOODDOOOODODOOOODn
oooooooboooboboooobooboooboobooboooboooooooooboobooboooooboobooon
oooooooooooon

goooooobooboooooboobobooboooboobooooooboooooobooobooo
gouooabooogobobbdobbouboobobbodoooboboooobooboboboba
goooobobooobooooboobobobobobobobobobooboboooooobobo
gbooboooooobooobooboboooo

gooooooooo covlooooooooooooooooooGUIDOOoOoDobooboOoLoDOD

ioboooboooobooobodobooooooooobooboboobOOoOoobooboooobon
0000000000000 00O00U0O0[Tab)000000O0OO0OOO0ODOOODUOOOO
oooooooooooooooooooooboooobboooboobooboooon

ggoooooooboobooobooooobobobooobooobobobbOobooono
Ubddd0OOemacsO0O00O000O0O0O0O0OOOOCODOO

history OO0 000 O0OCOUNXDOODOOOOOOOOOOODOODOOOOOOOOOOoOoOooOo
UdbO00bO00000DOgeec -o hoge fuga.cUODDOODOOO0OOOOOOO0OO0O0DOOOOOO
0000000 000o00o0o00ooOoU00OOU00o0O00OUOoO)|)0 [DOUjoooUUoOoOo
ooooooooobobobooboobOOooooooDo

*000000000000O000000000



0~ Uk WN

2 0JOodgdo

00000000 [1)o0o0000o00oUuoooUooooo

21 0ODO0000O0obOOoo0O0O 000 p.7
2.1.1 00000

cOoooobooU0Oo0ooOoOoooOoOooooboOoDOoooO01DOD0DOo0oOoboO0oooooboDooOoood
uboooooboboobbOboooboooooobooboobeu1200000Db0O0OOOOOO0OOOOOO0OO
gbobooooooooobbobooboooboooooooboboobooOoboboOooboooboboooon

U0 hogehogel 10 00OOONO

U0 Hogehogel 20000 ONO

U0 hoGehogel 30 00O ONO

. hogehoge 1 U UOUOOOODOOOODOhogehoge = 100O0OOONO
Hogehoge 1 OO UOUOOOODOOOONO

. hoGehoge 10U O OOOOOOOOOOO

o U W e

000000000030 0000000 hogehoge O Hogehogell hoGehoge 0 00O OO OOODOO

ooobooooooooooobboobooboooooOoDboObDbOoOOobOoCcbooOooooooooDoboD

gbgbbooboboobooooboboooobobboobboobooobboooooboooaobooo

Ud0 1. 00oobOoboboboobooboboboooog

#include <stdio.h>

int main(void){
int hogehoge, Hogehoge, hoGehoge;

1;
2;
3;

hogehoge
Hogehoge
hoGehoge

printf(”hogehoge = %d\n” ,hogehoge);
printf(”Hogehoge = %d\n” ,Hogehoge );
printf(”hoGehoge = %d\n” ,hoGehoge);

return 0;

hogehoge
Hogehoge
hoGehoge
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printf (“hogehoge = %d\n”,hogehoge) ; ‘
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hogehoge = %d\n|”,hogehoge
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#include <stdio.h>
int main(void) {
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return 0;
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/*x == goooooboo */
/* m=========================================== */
#include <stdio.h>

int main(void){
double pi;
double r, s;

*

*/
]
O
oooooooooooo =/

pi = 3.141592;
r */
s

= 1.0

pisrx*r;

ooo
OooOoo

*

~N N
*
ooad

printf(”s = %f\n”,s); // ANSIOOOOOOODOOODOOOK

return 0;

}

s = 3.141592

ubd 3:000o0o00bbocooboboboo

#include <stdio.h>

int main(void){
double pi;
double r, s;

pi = 3.141592;
r 1.0;
S pi*r*r;

printf(”s = %f\n” ,s);
return 0;

}

s = 3.141592
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obd 4. 00000

#include <stdio.h>

int main(void){
int i;

for (i=1; i <= 9; i++){
printf(”%d: Hello World !!'\n”,i);
}

return 0;

}

good

: Hello World !!
: Hello World !!
: Hello World !!
Hello World !!
Hello World !!
Hello World !!
Hello World !!
Hello World !!
Hello World !!
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for(i=1; i <= 9; i++){
printf("%d: Hello World !!'\n",i);
}
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1 ==== Hello World !! ==== 1
2 ==== Hello World !! ====
3 ==== Hello World !! ====
a
0
0
100 ==== Hello World !! ==== 100
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#include <stdio.h>

int main(void){

int seisu;
double jisu;

seisu = 65;
jisu = —69.53e—7;
printf(”seisu = %d jisu = %e\n” , seisu, jisu);

return 0;

}

seisu = 65 jisu = -6.953000e-06
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[DD0 1] 00 seisul —12340 jisuO —6.987x 10~ 0000000000000000
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